[image: image1.png]


14272 Chambers Road     Tustin, CA  92780

(800) 854-0137 ( (714) 542-4487 ( FAX (714) 972-2978

e-mail:  info@plasties.com     website:  www.plasties.com
[image: image2.png]4

"





604 Master Repair Kit

Part# K001030 

	Part Number
	Description
	Qty

	A201030
	Master Pinion Support - Assembly
	1

	A401120
	Master Gear Segment - Assembly
	1

	A301020
	Counter - Assembly
	1

	P001740
	Motor - Gear
	1

	A301170
	Release - Actuator Switch - Assembly
	1

	M001050
	Insulation switch
	1

	M001570
	Spring - Needle Return
	2

	P001030
	Bearing - Radial Ball Bearing
	2

	P001150
	E- Ring Bowed
	1

	P001220
	Screw - Pan Head Phillips 8-32 x .375
	4

	P001250
	Screw - Pan Head Phillips 4-40 x .250
	2

	P001260
	Screw - Pan Head Phillips 4-40 x .875
	2

	P001280
	Screw - Pan Head Phillips 10-32 x .313
	4

	P001290
	Screw - Pan Head Phillips 10-32 x .500
	5

	P001320
	Screw - Pan Head 10-32 x .250
	4

	P001330
	Screw - Pan Head Phillips .250-20 x 1.0
	4

	P001330
	Screw - Pan Head Phillips .250-20 x 1.0
	2

	P001340
	Screw - Pan Head Phillips .250-20 x 1.250
	4

	P001450
	Lockwasher - Internal Tooth .250
	14

	P001460
	Lockwasher - Internal Tooth No. 4
	4

	P001470
	Lockwasher - Internal Tooth No. 8
	11

	P001480
	Lockwasher - Internal Tooth No. 10
	15

	P001920
	Washer - Nylon No. 8
	2

	P001980
	Screw - Pan Head Phillips 8-32 x .313
	4

	S001070
	Shim .005
	1-4

	S001220
	Case Divider
	1

	P001570
	Micro Switch
	2

	A501091
	Motor Wire Harness
	1


[image: image1.png]

